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MICRO ECONOMICS-I (In all Mediums)
Paper—MAECO-101

Time Allowed : Three Hours] . [Maximum Marks : 80

Note :— Attempt FIVE questions in all, including Q. No. 1
which is compulsory and selecting ONE question each
from Units I-1V. |

Jares. Explain any ten of the fol_lowing short answer -type questions :

(a) Opportunity costs.
“(b) How do people make decisions ?
(c) Positive 'Ecoﬁomics. P ‘
(d) General Equilibrium. .
(e) Aséumptions_ of Ca'rdinal'Analys.is_. |
 (f) Marshallian Demand Curve.
(g) Consumer's surplus.
(h) Consisténcy of choice.
(D) Why do people gamble ?
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5.

(J) Adverse selection.
(k) Veblen effect.
(1) Two dis-economies of 'scale.

(m) - The Learning Curve Analysis.

(n) Substitution etfect.

(o) Govt. response to proBlem of moral hazard. 10x2=20
UNIT-I

Discuss the methodology‘ of economics as a social science.

What are other processes of construction of positive theories ?

7Y2,7%

OR |

What is meant by eqﬁilibrium ? Discus's sta‘bility, existencé

and uni.queness of equilibrium. - o 15
- UNIT-I

Ekplain the effects of changes in relative prices and money

incomes on consumer's equilibrium. o o 15
OR

Write notes on :

-(a)' Income leisure choice.

(b) Intertemporal choice of consurription. | | 15
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UNIT-11I
Explain the role OfNetwork Extemalmes and explam Bandwagorl

and Snob effects. % . 15
OR ] |
- Analyse consumer behaviour under asymmetric information.
R | 15
UNIT-1V
What is expansion path ? How would you-derive long run cost
of production curves from it % ? o 1,_5
Exa;rnine the shape of short and long run cost curves. 15
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